## BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES

TO SERVE EVERGREEN SECTION 6

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 19, 2025 LJA ENGINEERING, INC.

T. JOSEPH

MARCH 19, 2025 1931-9026D (9.2)

BIDDER NAME	BASE BID	ALTERNATE BID PLUS BASE BID
1) DIMAS BROS. CONSTRUCTION	\$780,391.05	\$1,524,000.00
2) R CONSTRUCTION CIVIL, LLC	\$863,358.00	\$1,525,876.85
3) HURTADO CONSTRUCTION COMPANY	\$948,814.80	\$1,744,185.64

90/110

CLAYTON C. WEISHUHN
127645
CENSE
OF
7E+75

CLAYTON C. WEISHUHN
3/24/25

I, Clayton Weishuhn, PE, hereby certify these bid tabulations to be true and correct.

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE EVERGREEN SECTION 6 FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 19, 2025 LIA ENGINEERING, INC. T. JOSEPH MARCH 19, 2025 1931-9026D (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

			1) DIMAS BROS	. CONSTRUCTION	2) R CONSTRU	2) R CONSTRUCTION CIVIL, LLC		TRUCTION COMPANY
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID WATER ITEMS  1. 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2582	\$39.00	\$100,698.00	\$35.00	\$90,370.00	\$42.00	\$108,444.00
<ol><li>TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE</li></ol>	LF	2582	\$1.00	\$2,582.00	\$1.00	\$2,582.00	\$0.08	\$206.56
3. 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	5	\$1,650.00	\$8,250.00	\$2,300.00	\$11,500.00	\$1,928.00	\$9,640.00
<ol> <li>FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE &amp; BOX, AND LEAD PIPE AND FIRE HYDRANT, ALL DEPTHS, COMPLETE IN PLACE</li> </ol>	EA	6	\$6,007.00	\$36,042.00	\$7,000.00	\$42,000.00	\$6,318.00	\$37,908.00
<ol> <li>SHORT SIDE DOUBLE OR SINGLE SERVICE, 1" (TYPE "K" SOFT COPPER SERVICE LINE), WATER SERVICE INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE</li> </ol>	EA	13	\$970.00	\$12,610.00	\$1,200.00	\$15,600.00	\$980.00	\$12,740.00
6. TAP EXISTING 8" PVC WATER PIPE AND CONNECT SHORT SIDE DOUBLE OR SINGLE SERVICE, 1" (TYPE "K" SOFT COPPER SERVICE LINE), WATER SERVICE INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	1	\$1,184.00	\$1,184.00	\$1,100.00	\$1,100.00	\$2,880.00	\$2,880.00
<ol> <li>LONG SIDE DOUBLE OR SINGLE SERVICE, 1" (TYPE "K" SOFT COPPER SERVICE LINE), WATER SERVICE INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE</li> </ol>	EA	25	\$2,025.00	\$50,625.00	\$2,300.00	\$57,500.00	\$2,488.00	\$62,200.00
<ol> <li>WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG &amp; CLAMP AND 2" BLOW-OFF VALVE &amp; BOX, ALL DEPTHS, COMPLETE IN PLACE</li> </ol>	EA	4	\$550.00	\$2,200.00	\$300.00	\$1,200,00	\$688.00	\$2,752.00
SUBTOTAL BASE BID WATER ITEMS			-	\$214,191.00		\$221,852.00	-	\$236,770.56
BASE BID SANITARY SEWER ITEMS  1. 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 0' - 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1637	\$40.15	\$65,725.55	\$32.00	\$52,384.00	\$48.00	\$78,576.00
2. 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	943	\$41.00	\$38,663.00	\$31.00	\$29,233.00	\$58.00	\$54,694.00
3. TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	3584	\$1.00	\$3,584.00	\$1.00	\$3,584.00	\$0.08	\$286.72
<ol> <li>STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE</li> </ol>	EA	16	\$5,884.00	\$94,144.00	\$4,300.00	\$68,800.00	\$4,888.00	\$78,208.00
<ol> <li>EXTRA VERTICAL DEPTH OF SANITARY SEWER MANHOLES (OVER 8' DEPTH), ALL SIZES, COMPLETE IN PLACE</li> </ol>	VF	31	\$230.00	\$7,130.00	\$250.00	\$7,750.00	\$180.00	\$5,580.00
6. LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	14	\$2,784.00	\$38,976.00	\$2,500.00	\$35,000.00	\$4,448.00	\$62,272.00
<ol> <li>SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE</li> </ol>	EA	23	\$728.00	\$16,744.00	\$1,400.00	\$32,200.00	\$1,888.00	\$43,424.00
REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$184.00	\$368.00	\$160.00	\$320.00	\$8.00	\$16.00
9. VIDEO INSPECTION AND CLEANING OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	2580	\$0.10	\$258.00	\$2.00	\$5,160.00	\$1.00	\$2,580.00
10. ADDITIONAL COST FOR SANITARY SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	1000	\$0.10	\$100.00	\$5.00	\$5,000.00	\$20.00	\$20,000.00
11. DEWATERING FOR SANITARY SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
SUBTOTAL BASE BID SANITARY SEWER ITEMS			-	\$265,792.55	-	\$241,431.00	-	\$347,636.72

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE EVERGREEN SECTION 6 FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232 CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 19, 2025 LJA ENGINEERING, INC. T. JOSEPH

MARCH 19, 2025

1931-9026D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

				1) DIMAS BROS	1) DIMAS BROS. CONSTRUCTION		2) R CONSTRUCTION CIVIL, LLC		TRUCTION COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	O DRAINAGE ITEMS 24" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	660	\$61.75	\$40,755.00	\$64.00	\$42,240.00	\$68.00	\$44,880.00
2.	30" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	813	\$71.70	\$58,292.10	\$92.00	\$74,796.00	\$86.58	\$70,389.54
3.	36" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	552	\$88.85	\$49,045.20	\$108.00	\$59,616.00	\$112.08	\$61,868.16
4.	42" STORM SEWER, CORRUGATED SMOOTH LINED HIGH PERFORMANCE POLYPROPYLENE PIPE (AASHTO M330, MEETING TXDOT MPL), ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	71	\$138.00	\$9,798.00	\$180.00	\$12,780.00	\$188.00	\$13,348.00
5.	TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	2096	\$1.00	\$2,096.00	\$1.00	\$2,096.00	\$0.08	\$167.68
6.	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$4,500.00	\$45,000.00	\$3,500.00	\$35,000.00	\$3,688.00	\$36,880.00
7.	STAGE I – REINFORCED CONCRETE TYPE "H-2" INLET, INCLUDES INLET PROTECTION BARRIER FOR STAGE 1 INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	15	\$1,200.00	\$18,000.00	\$2,100.00	\$31,500.00	\$1,198.00	\$17,970.00
8.	STAGE II – REINFORCED CONCRETE TYPE "H-2" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	15	\$1,700.00	\$25,500.00	\$2,600.00	\$39,000.00	\$1,488.00	\$22,320.00
9.	STAGE I – REINFORCED CONCRETE TYPE "H-2" INLET W/5' EXTENSION, INCLUDES INLET PROTECTION BARRIER FOR STAGE 1 INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,512.00	\$1,512.00	\$4,500.00	\$4,500.00	\$1,918.00	\$1,918.00
10.	STAGE II – REINFORCED CONCRETE TYPE "H-2" INLET W/5' EXTENSION, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,151.00	\$2,151.00	\$2,600.00	\$2,600.00	\$2,888.00	\$2,888.00
11.	VIDEO INSPECTION AND CLEANING OF STORM SEWER, ALL SIZES, INCLUDES DIGITAL COPY, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2096	\$0.10	\$209.60	\$3.00	\$6,288.00	\$0.25	\$524.00
12.	ADDITIONAL COST FOR STORM SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	1000	\$0.10	\$100.00	\$5.00	\$5,000.00	\$20.00	\$20,000.00
13.	DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1000	\$0.10	\$100.00	\$20.00	\$20,000.00	\$20.00	\$20,000.00
14.	REMOVE AND OFFSITE DISPOSAL OF EXISTING 36" PPP STORM SEWER 8" BRICK WALL PLUG AND CONNECT PROPOSED 36" PPP STORM SEWER, COMPLETE IN PLACE	EA	1	\$184.00	\$184.00	\$650.00	\$650.00	\$88.00	\$88.00
15.	REMOVE AND OFFSITE DISPOSAL OF EXISTING 42" PPP STORM SEWER 8" BRICK WALL PLUG AND CONNECT PROPOSED 42" PPP STORM SEWER, COMPLETE IN PLACE	EA	1	\$184.00	\$184.00	\$650.00	\$650.00	\$88.00	\$88.00
SUBTOT	AL BASE BID DRAINAGE ITEMS				\$252,926.90	_	\$336,716.00	-	\$313,329.38

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE EVERGREEN SECTION & FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 19, 2025 LJA ENGINEERING, INC. T. JOSEPH MARCH 19, 2025

1931-9026D (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

				1) DIMAS BRO	S. CONSTRUCTION	2) R CONSTRU	ICTION CIVIL, LLC	3) HURTADO CONS	TRUCTION COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
1.	WS&D MISCELLANEOUS ITEMS INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	9706	\$0.10	\$970.60	\$1.50	\$14,559.00	\$0.50	\$4,853.00
	INSTALL AND MAINTAIN STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$750.00	\$750.00	\$1,800.00	\$1,800.00
	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$200.00	\$200.00	\$600.00	\$600.00	\$1,800.00	\$1,800.00
	INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$250.00	\$250.00	\$800.00	\$800.00
	ADDITIONAL COST FOR UNSATISFACTORY SOIL CONDITIONS FOR MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	10	\$1.00	\$10.00	\$250.00	\$2,500.00	\$0.02	\$0.20
	INLET PROTECTION BARRIER FOR STAGE II INLET, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	30	\$10.00	\$300.00	\$20.00	\$600.00	\$1.00	\$30.00
	BROADCAST SEEDING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	14	\$50.00	\$700.00	\$650.00	\$9,100.00	\$100.00	\$1,400.00
	HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	2	\$100.00	\$200.00	\$1,500.00	\$3,000.00	\$100.00	\$200.00
	EXTRA CEMENT STABILIZED SAND PER GEOTECHNICAL REPORT (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	100	\$1.00	\$100.00	\$18.00	\$1,800.00	\$20.00	\$2,000.00
	UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM B* (ITFS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$15,000.00	\$15,000.00	\$3,100.00	\$3,100.00	\$8,888.00	\$8,888.00
11.	CITY OF ROSENBERG PERMIT FEE, COMPLETE IN PLACE	LS	1	\$9,100.00	\$9,100.00	\$7,100.00	\$7,100.00	\$9,306.94	\$9,306.94
	INCENTIVE PAYMENT FOR EARLY ACHIEVEMENT OF SUBSTANTIAL COMPLETION UP TO A MAXIMUM OF 20 DAYS	DAY	20	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00
SUBTOTA	L BASE BID WS&D MISCELLANEOUS ITEMS				\$47,480.60		\$63,359.00	•	\$51,078.14

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE EVERGEES SECTION & FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232 CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS MARCH 19, 2025

LJA ENGINEERING, INC. T. JOSEPH MARCH 19, 2025 1931-9026D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.

				1) DIMAS BROS. CONSTRUCTION		2) R CONSTRU	2) R CONSTRUCTION CIVIL, LLC		3) HURTADO CONSTRUCTION COMPANY	
NO. ITEM DESCRIF	PTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
1. 6" REINFORCED CONCRETE PAVEMENT, CO	DMPLETE IN PLACE	SY	10167	\$53.00	\$538,851.00	\$45.00	\$457,515.00	\$54.00	\$549,018.00	
2. 4" X 12" REINFORCED CONCRETE CURB, CO	OMPLETE IN PLACE	LF	4518	\$3.65	\$16,490.70	\$4.00	\$18,072.00	\$4.00	\$18,072.00	
3. 6" REINFORCED CONCRETE CURB, COMPLI	TE IN PLACE	LF	815	\$3.75	\$3,056.25	\$4.00	\$3,260.00	\$4.00	\$3,260.00	
4. 6" LIME STABILIZED SUBGRADE MANIPULA	ATION, COMPLETE IN PLACE	SY	11351	\$3.65	\$41,431.15	\$4.00	\$45,404.00	\$6.18	\$70,149.18	
<ol> <li>HYDRATED LIME FOR 6" STABILIZED SUBG APPLICATION RATE, AS REQUIRED BY SOIL GEOTECHNICAL ENGINEER, COMPLETE IN</li> </ol>	CONDITIONS AND APPROVED BY	TON	204	\$328.00	\$66,912.00	\$340.00	\$69,360.00	\$358.00	\$73,032.00	
6. TYPE 7 ADA RAMPS, INCLUDES TRUNCATE CONTRASTING COLOR PER DETAIL, COMPL		EA	4	\$1,484.00	\$5,936.00	\$1,800.00	\$7,200.00	\$1,688.00	\$6,752.00	
<ol> <li>CONNECT PROPOSED 6" REINFORCED CON REINFORCED CONCRETE PAVEMENT, COM</li> </ol>		LF	128	\$30.00	\$3,840.00	\$42.00	\$5,376.00	\$28.00	\$3,584.00	
8. REMOVE AND DISPOSE OF EXISTING TYPE PLACE	III BARRICADE, COMPLETE IN	EA	4	\$1.00	\$4.00	\$1.00	\$4.00	\$0.08	\$0.32	
<ol> <li>4" SQUARE DOUBLE REFLECTORIZED BLUE HYDRANT LOCATION, COMPLETE IN PLACE</li> </ol>		EA	6	\$20.00	\$120.00	\$15.00	\$90.00	\$18.00	\$108.00	
<ol> <li>FINAL LOT GRADING, INCLUDING STRIPPIN EXCAVATION, HAULING, PLACEMENT AND AND PLACEMENT OF STRIPPINGS, COMPLET</li> </ol>	COMPACTION OF MATERIALS,	EA	73	\$301.00	\$21,973.00	\$195.00	\$14,235.00	\$298.00	\$21,754.00	
<ol> <li>FINAL RESERVE GRADING, INCLUDING STR EXCAVATION, HAULING, PLACEMENT AND AND PLACEMENT OF STRIPPINGS, COMPLET</li> </ol>	COMPACTION OF MATERIALS,	EA	5	\$500.00	\$2,500.00	\$420.00	\$2,100.00	\$298.00	\$1,490.00	
12. ROADWAY EXCAVATION, INCLUDES STRIPI APPLICATION OF STRIPPINGS TO APPLICAE		CY	1316	\$4.50	\$5,922.00	\$4.40	\$5,790.40	\$3.80	\$5,000.80	
13. EMBANKMENT, INCLUDES DEMUCKING, R EXISTING UNSUITABLE MATERIAL BEFORE STRIPPING, STOCKPILING STRIPPINGS, PRC STRIPPINGS TO FILL AREA, PLACEMENT AN STANDARD PROCTOR DENSITY, WITH MAY GRADING, COMPLETE IN PLACE	PLACING FILL, HAULING, IOFROLLING, RE-APPLICATION OF D COMPACTION TO 95%	CY	1391	\$4.50	\$6,259.50	\$4.00	\$5,564.00	\$3.80	\$5,285.80	
<ol> <li>PERMANENT TRAFFIC CONTROL DEVICES F INCLUDES ALL TRAFFIC BUTTONS, PAVEMI REFLECTIVE PAINT ON MEDIAN NOSES, ST COMPLETE IN PLACE</li> </ol>	NT STRIPING, MARKERS,	LS	1	\$4,454.85	\$4,454.85	\$8,200.00	\$8,200.00	\$13,000.00	\$13,000.00	
15. FILL TO BE PLACED ON THE PARK AREA LO & SPACEK ROAD, INCLUDES DEMUCKING, EXISTING UNSUITABLE MATERIAL BEFORE STRIPPINGS, STOCKPILING STRIPPINGS, PRC STRIPPINGS TO FILL AREA, PLACEMENT AN STANDARD PROCTOR DENSITY, WITH MAY GRADING, COMPLETE IN PLACE	REMOVING AND DISPOSING OF PLACING FILL, HAULING, IOFROLLING, RE-APPLICATION OF ID COMPACTION TO 95%	CY	2013	\$4.50	\$9,058.50	\$3.65	\$7,347.45	\$4.88	\$9,823.44	
<ol> <li>TEMPORARY TRAFFIC CONTROL DEVICES A OF THE PROJECT, ALL PHASES, (FLAGGERS, INCLUDES INSTALLATION, MAINTENANCE PLACE</li> </ol>	CONES, ETC), PER TMUTCD,	LS	1	\$500.00	\$500.00	\$1.00	\$1.00	\$1,800.00	\$1,800.00	
17. AS BUILT SURVEY OF ALL PAVEMENT HIGH RESERVES, INCLUDES AN EXHIBIT CERTIFIE PROFESSIONAL LAND SURVEYOR IN THE ST AUTOCAD FILE OF SURVEY, COMPLETE IN I	D BY A REGISTERED FATE OF TEXAS, AS WELL AS AN	LS	1	\$3,500.00	\$3,500.00	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	
18. CITY OF ROSENBERG PERMIT FEE, COMPLE	TE IN PLACE	LS	1	\$12,800.00	\$12,800.00	\$6,500.00	\$6,500.00	\$8,241.30	\$8,241.30	
19. INCENTIVE PAYMENT FOR EARLY ACHIEVE COMPLETION UP TO A MAXIMUM OF 20 D		DAY	20	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00	
<ol> <li>DEDUCT BASE BID WS&amp;D MISCELLANEOUS PAYMENT FOR EARLY ACHIEVEMENT OF SI A MAXIMUM OF 20 DAYS</li> </ol>		DAY	20	-\$1,000.00	-\$20,000.00	-\$1,000.00	-\$20,000.00	-\$1,000.00	-\$20,000.00	
SUBTOTAL ALTERNATE BID ALTERNATE NO. 1 ITEM	s			-	\$743,608.95	-	\$662,518.85	-	\$795,370.84	

## BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & ALTERNATE PAVING AND APPURTENANCES TO SERVE EVERGREEN SECTION 6
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MARCH 19, 2025

1931-9026D (9.2)

LJA ENGINEERING, INC. T. JOSEPH MARCH 19, 2025

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

				1) DIMAS BROS. CONSTRUCTION		2) R CONSTRUCTION CIVIL, LLC		3) HURTADO CONS	TRUCTION COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BID SUMMARY									
BASE BID WATER ITI	EMS				\$214,191.00		\$221,852.00		\$236,770.56
BASE BID SANITARY	SEWER ITEMS				\$265,792.55		\$241,431.00		\$347,636.72
BASE BID DRAINAGE	ITEMS				\$252,926.90		\$336,716.00		\$313,329.38
BASE BID WS&D MIS	SCELLANEOUS ITEMS				\$47,480.60		\$63,359.00		\$51,078.14
TOTAL AMOUNT BA	SE BID				\$780,391.05		\$863,358.00		\$948,814.80
ALTERNATE BID									
TOTAL AMOUNT BA	SE BID				\$780,391.05		\$863,358.00		\$948,814.80
ALTERNATE NO. 1 IT	EMS				\$743,608.95		\$662,518.85		\$795,370.84
TOTAL ALTERNATE	BID PLUS BASE BID				\$1,524,000.00		\$1,525,876.85		\$1,744,185.64